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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  Some vegetarians are not just indifferent to meat; they have a/an —--—-------- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an -~—-------- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ------ imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience -----aeaeev for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ------------
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be - to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ------eeuuu- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and ----—--—--— from years of being out in the
sun and the wind.
1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the --------- --- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is t00 --emseeeeeme an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee

each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) --—-- . They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ~=—=eeeeeeem the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

To make such a task manageable we will look at two contrasting countries, the USA
and Germany, and use case studies of multinational companies (MNCs) from these
two countries to develop the analysis. The focus on these two countries is justified
partly because of their size and influence on the global economy as two of the key
economic powers of the last one hundred years or so. It is also justified because they
each represent examples of wider types of 'national business system' and of national
styles of personnel management: the USA is the archetypal case of the liberalized,
free-market economy in which employers act with considerable autonomy from the
state or business associations: Germany, on the other hand, represents a much more
regulated, partnership-based system in which firms often collaborate with others over
issues such as pay determination. In addition, from a UK perspective. German and
particularly US firms account for large proportions of foreign direct investment (FDI),
much more in fact than the more heavily researched Japanese MNCs. Over the 5-year
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17-

18-

19-

20-

period from 1998 to 2002, US MNCs accounted for just over 25 per cent of flows of
FDI into the UK and German MNCs accounted for a further 21 per cent. Thus they
have the potential to have a significant impact on the management of human resources
in the UK.

What does the paragraph preceding the passage most probably discuss?

1) Two contrasting countries

2) A task that needs to be handled

3) Similarities between the USA and Germany

4) Multinational companies that can make a task manageable

What does the passage mainly discuss?

1) Superpowers which bolster the global economy

2) Why two countries are appropriate for an analysis

3) How American and German firms behave in the UK

4) The impact of Germany and the USA on the management of human resources in the
UK

The word "which" in the passage refers to --—--——--eeeeue 5

1) case 2) system 3) economy 4) management

The passage states that American business owners ---------eev .

1) can often act independently from the government

2) generally bargain for a liberalized. free-market economy

3) made huge investments in the UK and Japan between 1998 and 2002

4) may be more in favor of a partnership-based system than their German counterparts

Which of the following best describes the author's attitude towards the use of the USA

and Germany for the purposes of the study mentioned in the passage?

1) Skeptical 2) Disapproving 3) Approbatory 4) Indifferent

PASSAGE 2:

For a fascinating tale about creativity. look at a cleaning product called the Swiffer and
how it came about, urges writer Jonah Lehrer. In the story of the Swiffer. he argues, we
have the key elements in producing breakthrough ideas: frustration, moments of
insight and sheer hard work. The story starts with a multinational company which had
invented products for keeping homes spotless, and couldn't come up with better ways
to clean floors, so it hired designers to watch how people cleaned. Frustrated after
hundreds of hours of observation, they one day noticed a woman do with a paper
towel what people do all the time: wipe something up and throw it away. An idea
popped into lead designer Harry West's head: the solution to their problem was a floor
mop with a disposable cleaning surface. Mountains of prototypes and years of
teamwork later, they unveiled the Swiffer., which quickly became a commercial
success.

Lehrer, the author of /magine, a new book that seeks to explain how creativity
works. says this study of the imagination started from a desire to understand what
happens in the brain at the moment of sudden insight. 'But the book definitely spiraled
out of control.' Lehrer says. "When you talk to creative people. they'll tell you about the
'eurcka’ moment, but when you press them they also talk about the hard work that
comes afterwards, so I realised I needed to write about that, too. And then I realised |
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couldn't just look at creativity from the perspective of the brain, because it's also about
the culture and context. about the group and the team and the way we collaborate.'

What is the main topic of the passage?

1) Major factors in creativity

2) The content of a recent book

3) Lehrer and West's agreement on a specific subject

4) How a multinational company eliminated its rivals

According to the passage, all of the following led to the invention of the Swiffer EXCEPT
1) frustration 2) team working

3) sudden insight 4) commercial success

Which of the following best describes the function of the underlined sentence in
paragraph 1?

1) It describes a survival strategy employed by a lead designer.

2) It challenges an assumption supported in the preceding sentence.

3) It shows how an ordinary woman found a solution to an immediate problem.

4) It explains what was learned from an observation discussed in the preceding sentence.
The passage implies that Lehrer discusses some topics in /magine that —--

1) he was already familiar with

2) he did not expect to discuss earlier

3) do not link the 'eureka’ moment to success

4) are beyond common people's understanding

Why does the author mention “the culture and context” in paragraph 2?
1) Many creative people are made in social contexts.

2) They have been given more attention than creativity.

3) Various aspects of creativity should be taken into account.

4) Creativity is more affected by them than by collaborative work.

PASSAGE 3:

There is a range of types of explanations as to why styles of human resource (HR)
management and associated employment practices differ across countries. The
explanations attach importance to different sources of national distinctiveness, and
their predictions concerning whether national differences are likely to persist or be
eroded over time vary markedly. We highlight three main forms of explanation.

The first is what we refer to as convergence theories. This perspective stresses the
importance of globalization in driving common approaches across borders on the part
of firms. These pressures towards convergence stem in part from the influence of
multinational companies ( MNCs) themselves through their ability to transfer practices
across borders. but they also derive from the growth in international trade, the move
towards an internationally integrated financial system, and the greater visibility of
aspects of business practices stemming from improvements in travel and
communications across countries. The convergence argument rests on the notion that
stvles and practices that appear to be linked to good financial performance are
transferred across countries more rapidly than hitherto, and consequently national
patterns of management are coming to resemble one another more closely. As a result
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of the intensification of globalization in general and international competition in
particular, so the argument goes, the pace of convergence is increasing. Any
differences between countries in management styles and practices are in the process of

disappearing.

The word "eroded" in paragraph 1 could best be replaced by ——-——-eeeeeev,

1) weakened 2) focused on 3) exhibited 4) detected
The word "they" in paragraph 2 refers to —--—eeeee -—-.

1) MNCs 2) borders 3) practices 4) pressures

Why does the author mention the growth in international trade in paragraph 2?
1) It contributes to convergence.

2) Improvements in travel result from it.

3) It is the reason why some theories evolved.

4) It makes the integration of financial systems possible.

The passage states that practices associated with satisfactory financial performance

1) are in the process of disappearing

2) resemble one another in all respects

3) were not transferred across borders as quickly as they are now

4) began to develop soon after the introduction of the convergence argument
The paragraph following the passage most probably discusses ---=---=eeeeux,

1) convergence theories from a different perspective

2) the second similarity between national management styles

3) what globalization in general and competition in particular lead to

4) another explanation about HR management practices across the world
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